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5.
P
One f..of?@ﬂ“
e ?b(f@f X
i (NP n.r..fe_& Locating centre O
q\.\. LA Pﬁi.\( ot .\“m“ L bisector of OP
r-mwlﬁ H.K ﬂnhu’ _.\w— }B%iﬂﬂ?n@qﬂnn
4 position of point of contact
of circle and tangent
_L-B1 | Y tangent drawn
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.?.n?.nl 1{3/ L Vet (R 1_m~». 5 Ll %
g New value of P after changes in Q, R and S
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A Let point A" be the projection of point A on the plane

GFEH
AA' = .ﬁwn = w»v s Ml | Any Qﬂ 7 >_ o
4 o1 ot qn?_ ¥ Mlow | # nﬂ o v\
. — Aou et Klan
™ FA' = [(6 + ) ﬁ%{eé
=10 |
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= 21.8° Al

8. Balance upon paying deposit :
= 20000 — 10000
= 10000
>EQE.~. Repaid
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T Q = Q—.mw =108 — i -4 2 ..r. .uwn.‘.ﬁ

b
r = Qb@n l&_xg : A B Yl _

PDF Compressor Free Version

il %"imq other FREE materials from https://teacher.co.ke/notes
b=



Download this and other FREE materials from https://teacher.co.ke/notes

PDF Compressor Free Version

i e .1 S L
h wﬁn;vq_pﬂvhfw

/

(b)

No. | Marking scheme Siarks e
9 ?v
1 _ _ ! " m __ “ | __
H TR
II._I”.w ﬁ ” ! | ] _“ — _.
il R i
6 m Hpee
i L Ll W | !
e E __r d , | | 1 1
NN | o 1 sded and sTRar®
[ NN ] !
| { i [

Bl v tangent drawn

0-27 | \
Gradient = i B jﬂ » il W_E..mw
e cinlaceee am= L, -9
N LI L. KE

10.

360
29% 0
?U = =18
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(b) Phase Angle = +70

11.

Let 0 = longitude difference between P and Q
0x60cosd0 = 2000 ——

2000
60 cos 40

= 4351° i
155 + 43.5 = 198.59
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(b) P(Balls picked are of different colours)
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X
% Angle bisector of £ XYZ
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14, 5 : :
rQe Mm =|=2]=]=-3. pr\\
3, 3
A | - Bl | For either (i) and (ii)
6 2 | QW
PR = -3 | = =2l = = ﬁnnv,\ 9:?\ ﬂl/u/.
4 3 1 mnﬁ\r\m/\.n\ff\n .?fnw i

If PQand PR are parallel, then PQ=kPR

6 2

-3 =k o

3 1

K
k=t
g
" PQ me Povell o\ Cornf Bl | Parallelism
P is a common point o -
Points P, Q and R are collinear i
3
15.

35t = (x = 4) < 13X _ s ML
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18. | (a) (i) Area of lawn

=(50-4x)(24-2x¢) «~ | M
= 1200 - 100x - 96x + 8%’
= 1200 - 196x + 8x* Al

(ii) Area of path
= 50x24 - (1200 - 196x + 8x")

= 1200 - 1200 + 196x - 8x
=196y <82 ] ¥

(b) (i) 196x - 8x* = wﬁ_NS - 196x + ?J\ | M
. Il %H?%
= 1800 — 294x + 12x* flow ¢ .

20x* - 490x + 1800 = ?\,\\Illlllil MI o
2x' —49x + 180 = 0
(2x - 9)(x - 20) = 0= - Ml
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19 [ (a) (i) Sizeof ZAEC -
s oy e m
ZABE = 30° 2 — :
le in alternate segment
;:mn \ v I BI .
JCBR =00 L —
(Opposite angle of a cyclic quadrilateral)
ot B
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(Opposite angle of a cyclic quadrilateral )
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( Angle at the circumference is half angle at centre)
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A 4 g 20. | T; Taxable :__,c:_r T
mﬁ.._ _,..m :
(L Ty + 20} __./x/m = 064 500 + . M
7( __/.o Ksh .:. 662.50 . 1 Al
j _ ?w Tax payable by Kanini
VA : 10
L 3\ 1" slab = 12298 x o0 ﬁs.c %_ﬁ|- ] 1229 5o NoRk (o
A 15
2" slab = 11587 % — =173 e
100 38.05 »
Y - Ly
M \ 3" glab = :urqu_. = 23174 | ¥P—
100
Y\ 0 a
4" slab = :mm.___xrww 2 896.75
7 100 =
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21. | (a) Inverse of transformation matrix
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Coordinates of triangle ABC are A (3, 3), B(1, 1)
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and C(5,3)
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Midpointx [t | <% | or 1y
m 3 | 5 i) [| BI | fx(with )
6 48 % Y
I - - | B, S B
—8 T e g
18 126 2268 | | B | Be¥without tr
23 | 4 92 2116
28 T 2 56 1568
L AR
——— 122+t [=331413| =715 |
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Mi1

= 46792

Download this and other FREE materials from https://teacher.co.ke/notes

Al
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Q, =155+ mlwxu
= 19.43
Oﬁ =55+ mxm
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=925
Interquartile range
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(¢) (i) Wheny=2 p———
3 7 3
2sin ﬁl aulmn:ﬁl au =2 then
4 4
O {7 R
mEﬁnnu :m_:ﬁaau
FZ2 3 :
x = _uo.wwﬂv\\u 1 S — 1 " R i rc/r
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(2) v =[(4t - 13)dt
=2t 13t + ¢

whent = 0,v = |8
18 = 2x0 - 13x0 + ¢
c=18

M

=2t -13t + I8
§¢"O
28 ~13t + 18 = 0
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(- 9)(t-2) =0

t=45o0rt=2
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(b) Distance covered by particle
Area above x axis
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